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1) 24az —18ah + 60yz — 45yh
3(8az — 6ah + 20yz — 15yh)
3(2a(4z — 3h) + 5y(4z — 3h)
3(4z — 3h)(2a + 5y)

3) 5u? —9uv + 4v?

5u? — 4uv — 5uv + 4v? _420_5
u(5u —4v) —v(5u —4v) /-9

(5u—4v)(u —v)

5) —2x3+128y3
—2(x3 — 64y3)
(x) (4y)
—2(x — 4y)(x? + 4xy + 16y?)

7) 5n3+ 7n%—6n
n(5n% + 7n — 6)
n(5n% + 10n — 3n — 6) 1'30_3
n(Sn(n +2)-3(n+ 2)) 7

nn+2)(5n—3)

9) 54u®-16
2(27u3 - 8)
(Bw) (2)
2(3u —2)(9u? + 6u + 4)
11) n> —n
nn—1)
13) x2 — 4xy + 3y? 3

X2 —xy —3xy +3y2 SN
x(x—y)—3y(x—y)
(c—y)(x—3y)

15) 9x2? — 25y?

(Bx) (G5y)
(B3x +5y)(3x — 5y)

17) m? — 4n?

(m) (2n)
(m+ 2n)(m — 2n)

19) 36b%c — 16xd — 24b?d + 24xc
4(9b?c — 4xd — 6b%d + 6xC)
AHObLe—A4xd)—6(b%d—+xc)
4(9b%c — 6b%d + 6xc — 4xd)
4(3b%(3c — 2d) + 2x(3c — 2d)
4(3c — sd)(3b? + 2x)

21) 128 + 54x3
2(64 + 27x3)
(4) (3x)
2(4 + 3x)(16 — 12x + 9x?)

23) 2x3 + 6x%y — 20y%x N\,
2x(x? + 3xy — 10y?) s5)X2
2x(x + 5y)(x — 2y) }

25) n® + 7n? + 10n 0
n(n? + 7n + 10) ><
nn+5)(n+2) ’

27) 27x3 — 64

Bx) B
(3x — 4)(9x% + 12x + 16)

29) 5x2 + 2x
x(5x + 2)

31) 3k® — 27k* + 60k \_,,
3k(k? — 9k + 20) -4Xs
3k(k—4)(k—5)7 °

33) mn—12x + 3m — 4xn

—Iomn—I20+H3m—4xn)

mn + 3m — 4xn — 12x
m(n+3) —4x(n + 3)
(n+3)(m — 4x)

35) 16x2% — 8xy + y? _416 g
(4x — y)? 8



37) 27m? — 48n? 41) 2m? + 6mn — 20n? 10
3(9m? — 16n?) 2(m? + 3mn — 10n2) ><
(3m) (4n) 2(m + 5n)(m — 2n)
3(3m + 4n)(3m — 4n)
39) 9x3 + 21x%y — 60y2x 1_60_5
3x(3x2 + 7xy — 20y?) /
3x(3x2 + 12xy — 5xy — 20y?)
3x(3x(x + 4y) — 5y(x + 4y))
3x(x + 4y)(3x — 5y)



